QuesTion 1 Simplify the following.

a 8+12)-5=20~-§G b 64—(30+5)=64__35 ¢ 8+12)+(6+4) =20+ 10
_ 15 -4 _30

d G+T)x3 = |2x3 e 18x@2+7)=(8x 6 f (62+10)+(36+4) =F2 = 9
-36 | _ 108 _ 8

g 12+13+5-7=285 -2 h 64-12-6-4 = i 8x2x2x3

- 23 v X

QUESTION 2 Write the basic numeral for each of the following.

a 9+2x5+7= §+I0+F b 2+18x5=32+90 ¢ 85-18+9+20 = 852420
- 28 - 12 - 103
d 2x@-3)+17-7=|2xS5.e G4+19)+6 =48 ~ § f 84-5(15-3)+25=84 -5x 2
I :
= - 3 - 24

g 64+2x(28—8x2) h 96+(4+8)x5 i 8x(28+8)+4

_Eh+2x(28-16) _6<(n)xS _8x 364
:64"'2.)(,2. _—a 7 - 8 :
=64 +24 B o

- 88 = 40 = ¥

QuEsTION 3 Use the rules for the order of operations to simplify the following.

a [(10+5)+3]x7 b 30 x[(36+9)x2]-6 ¢ [(4+8)x (19 - 14) + 4]
_(I5:3)x? =30 x(4x2) -6 =(12x5¥=4)
= &xXF =35 =30x8 -6€=1234 =15

d [Q4+11)+7]x9 e [8+(8x8)]+8 f 6x[2+14)x(13-06)]
_35:%x9 =(8+64) ~8 =6x[16 x #]

- 5x9=45 =12 :8=9 =6X 112 = €72




QuesTioN 4  Insert the grouping symbols to make the following statements true.

a(l6*9)><0=0 b l4+(8—()x3=20 c(15—7)><9=72

(l(l44+12—7)x3=15e (z4+12H4+5)=4 £ 72+(12—3)+::10

QuesTioN2  Find answers to the following.

a 16x(9-4)+(15-5) b 68-3(12-3) + 32 ¢ 88+2x(36-6x4) = 88+2x(36-24)
=|6)(5-"D= 8 =68-_-3x‘i+32;73> -88+42x 12 = €4
d 99+ (12 -3)x9 e 68-3(18—5)+32:£8-5x13*%l 74+(28+7x3)—8:44+/4x3)-8
=“H—Z'{q)<q:qq -68-39+32 =61 =Fe+12 -8 = 18
g 10x(32+28) +4 h 300 - [16 + (3 x8) + 6] i 140 + {12 + [(4 x5) - 18]}
-10x 60 + 4 =300 ~[16+24 €] -140 = §12+C20 -181%
=60 -4 =300 = [l6+ 4] — o =4 12+2}
:,5 = 360 — 20 =140 = |4
= 280 = 10

QuesTion 4 Insert the grouping symbols to make the following statements true.

a (10+12)+1‘I=2 : b(23—3)><5=100 c(28+8)><(8—7)><4><2=288

d(9+9x9)+9=10 e(12+6—8)x2=20 f 3+8x7-4x3=72

9 (15—:—3x8)r(6+9)= 25 h (200-15)+(2 x3+6)-18¢ i (6+8)x4-(36+9)52




